










If From 4 : H -> G
,

We

say that

G is a homomorphic image of H.

E Ky) is a homomorphic image of H.

Det edge density of
1 graph G : (C)

= T

(2)
an n-vertex

"the percentage of pairs of was that arecdj in G u
,

w

· prob : unit at random choose two us

in G
. IP(nv + E(f)) = [VEzo

Embedding Lem
. Let FH be a graph ,

then the following-

holds for all suff . large n
.

M no (E
, H)

F n - ox H-free graph G with edge density 40
= R(E)

=> it a /reduced) graph R with
>Y - E

-beddinglem useful
.I

edge density of R >X-ol)
Why

G - R
R contains no homomorphic
-

image of H
Without lossing much on edge -

density
,

we bootstrap · now H-R

H-freeness to H-hom-freeness
#

R is H-hom-free·









= e(G) . (l- )
=an . (2) (l-
= xn . (2)

First Moment Method

=> I a choice of v s
.

t.

1+ .
.
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. e(g)Ee(f) = xi . (vi)

G GEG => G
'

is still H-fee

(=) ... = e(f')[ex(n + 1
, H) = an- ( z)

H & E) = didn Di
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